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Shot: 3182, Param. Tree 72

IDL: Max= 5.02487e-06, Min=-4.57098

TF SS and OoPM, Top_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 5.0248662e-06, Min= -4.5709809
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g TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., circ.)
= DCPS: Max= 4.9021372e-06, Min= -4.5693600
-151 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ ___________________HA
C N 1 1 1 N 1 1 -
-4 -2 0 2 4 6
time
= T T T T T T 3

TF Torques \/

Shot: 3182, Param. Tree 72

IDL: Max= 5.22367e-06, Min=-4.56916

TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max=5.2236734e-06, Min= -4.5691632
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Shot: 3182, Param. Tree 72

IDL: Max= 2.69201e-06, Min= -0.224508

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 2.6920072e-06, Min=-0.22450761
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E_IDL: Max= 1.74372e-06, Min=-0.224839

g TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.)
- DCPS: Max= 1.7437157e-06, Min=-0.22483936
-152 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ ___ _________________HA
C N 1 1 1 N 1 1 -
-4 -2 0 2 4 6
time
= T T T T T T 3

TF Torques

Shot: 3182, Param. Tree 72

IDL: Max= 1.51695e-06, Min=-0.224921

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 1.5169465e-06, Min=-0.22492111
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Shot: 3182, Param. Tree 72

IDL: Max= 6.73125e-06, Min=-0.359168

TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 6.7312470e-06, Min=-0.35916838
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Fault Starts: -0.63212500
Fault Ends: 0.73267153
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Shot: 3182, Param. Tree 72
C IDL: Max= 364703., Min=-0.0575285
E TF SS and OoPM, al_OL_OoPM (normal, circdular)
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Shot: 3182, Param. Tree 72
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